

IMPROVING COINCIDENT POINT THEOREMS FOR THREE MAPS IN BANACH SPACES

Author : **Dr. Sushanshu Shekhar**

M.Phil., Ph.D. (Physics)

Department of Physics, Jai Prakash University, Chapra

Email ID : drshekharsolanki2001@gmail.com

Mobile : 9304048091

ABSTRACT

In this paper we study on improving coincident point theorems for three maps in Banach spaces. We also point out that a number of coincident point theorems in the literature, for three maps, involving rational contractive conditions. We observe that it is possible to improve every theorem involving three maps.

KEYWORDS : Improving, Commuting, Contradiction, Uniqueness.

INTRODUCTION & CORE AREAS

Theorem 1. Let E , F , and T be three commuting selfmaps of a Banach space X such that one of the maps is continuous and E , F , T satisfy :

- (i) $E(X) \cup F(X) \subset T(X)$.
- (ii) there exist positive integers m , n such that

$$\|E^m x - F^n y\| \leq \frac{\alpha \|Tx - E^m x\| \|Ty - F^n y\|}{\|Tx - F^n y\| + \|Ty - E^m x\| + \|Tx - Ty\|} \beta \|Tx - Ty\| \quad (1)$$

for each x, y in X such that $\|Tx - F^n y\| + \|Ty - E^m x\| + \|Tx - Ty\| \neq 0$, where $\alpha, \beta \geq 0$ and $\alpha + \beta < 1$ and

$$\|E^m x - F^n y\| = 0 \text{ whenever } \|Tx - F^n y\| + \|Ty - E^m x\| + \|Tx - Ty\| = 0 \quad (2)$$

Then E , F and T have a unique coincident point z . Moreover, z is the only common fixed point of E and T and F and T .

PROOF. Define $\{y_n\}$ by $y_{2n+1} = E^m x_{2n}, y_{2n+2} = F^n x_{2n+1}$. Then, from (1),

$$\|E^m x_{2n} - F^n x_{2n+1}\| \leq \frac{\alpha \|Tx_{2n}, E^m x_{2n}\| \|Tx_{2n}, F^n x_{2n+1}\|}{\|Tx_{2n} - F^n x_{2n+1}\| + \|Tx_{2n+1} - E^m x_{2n}\| + \|Tx_{2n} - Tx_{2n+1}\|} + \beta \|Tx_{2n} - Tx_{2n+1}\|$$

$$\|y_{2n+1} - y_{2n+2}\| \leq \frac{\alpha \|y_{2n} - y_{2n+1}\| \|y_{2n+1}, y_{2n+2}\|}{\|y_{2n} - y_{2n+2}\| + 0 + \|y_{2n} - y_{2n+1}\|} + \beta \|y_{2n} - y_{2n+1}\|$$

or,

Using (1) with $x = x_{2n+2}, y = x_{2n+1}$

$$\|y_{2n+3} - y_{2n+2}\| \leq \frac{\alpha \|y_{n+2} - y_{2n+3}\| \|y_{2n+1}, y_{2n+2}\|}{0 + \|y_{2n+1}, y_{2n+3}\| + \|y_{2n}, y_{2n+1}\|} + \beta \|y_{2n+2} - y_{2n+1}\|$$

Thus, for each n,

$$\|y_{n+1} - y_{n+2}\| \leq \frac{\alpha \|y_{n+1} - y_{n+2}\| \|y_n - y_{n+1}\|}{\|y_n - y_{n+1}\| + \|y_n - y_{n+2}\|} + \beta \|y_n - y_{n+1}\| \tag{3}$$

Suppose that $y_n = y_{n+1}$ for some n. Then one must have also that $y_{n+1} = y_{n+2}$. If not, then from (3) $y_{n+1} = y_{n+2}$, a contradiction. Therefore $y_{n+1} = y_{n+2}$ and, in general, $y_n = y_{n+1}$ for $k = 1, 2, \dots$. Thus there exist points w_1 and w_2 in X such that $Tw_1 = E^m w_1$ and $Tw_2 = F^n w_2$ that $y_n = y_{n+1}$ for some n. Then one must have also that $y_{n+1} = y_{n+2}$, if not, then from (3) $y_{n+1} = y_{n+2}$, contradiction. Therefore, $y_{n+1} = y_{n+2}$, and, in general, $y_n = y_{n+k}$ for $k = 1, 2, \dots$. Thus there exist points w_1 and w_2 in X such that $Tw_1 = E^m w_1$ and $Tw_2 = F^n w_2$.

Claim – $Tw_1 = Tw_2$ suppose not. Then $\|Tw_1 - Tw_2\| \neq 0$ and (1) applies to give

$$\|E^m w_1 - F^n w_2\| \leq \frac{\alpha \|Tw_1 - E^m w_1\| \|Tw_2 - F^n w_2\|}{\|Tw_1 - F^n w_2\| + \|Tw_2 - E^m w_1\| + \|Tw_1 - Tw_2\|}$$

$$+ \beta \|Tw_1 - Tw_2\| = \beta \|Tw_1 - Tw_2\|$$

a contradiction. Therefore, $Tw_1 = Tw_2$. Thus there exists a point $z = Tw_1 - E^m w_1 = Tw_2 = F^n w_2$. Since E^m and T commute, $Tz = TE^m w_1 = E^m Tw_1 = E^m z$. Also, $Tz = TF^n w_2 = F^n Tw_2 = F^n z$. and z is a coincident point of T, E^m and F^n .

Claim $Tw_1 = E^m z$. Suppose not Then (1) applies to give

$$\|E^m z - F^n w_2\| \leq \frac{\alpha \|Tz - E^m z\| \|Tw_2 - F^n w_2\|}{\|Tz - F^n w_2\| + \|Tw_2 - E^m z\| + \|Tz - Tw_2\|} = 0$$

a contradiction.

Therefore $E^m z = F^n w_2 = Tw_2 = Tw_1 = z$, and z is a coincident point of T , E^m and F^n

Assume that $y_n \neq y_{n+1}$ for each n . Then it follows from (1) that

$$\|y_{n+1} - y_{n+2}\| \leq (\alpha + \beta) \|y_n - y_{n+1}\|,$$

Let $z = \lim_{n \rightarrow \infty} y_n$.

Assume that T is continuous. Then, since E and T commute, $\lim E^m Tx_{2n} = T$

$$E^m x_n = Tz.$$

Suppose that $z \neq Tz$ Then

$$\lim_{n \rightarrow \infty} (\|TTx_{2n} - F^n x_{2n+1}\|) + \|Tx_{2n+1} - E^m Tx_{2n}\| + \|TTx_{2n} - Tx_{2n+1}\| = e \|Tz - z\| > 0.$$

Therefore, for all n sufficiently large (1) applies. Note that $\|Tx - F^n y\| + \|Tx - Ty\| \geq \|Ty - F^n y\|$. Therefore (1) implies that, for all n sufficiently large.

$$\|E^m Tx_{2n} - F^n x_{2n+1}\| \leq \alpha (\|TTx_{2n} - E^m Tx_{2n}\|) + \beta \|TTx_{2n} - Tx_{2n+1}\|.$$

Taking the limit as $n \rightarrow \infty$ gives $\|Tz - z\| \leq \beta \|Tz - z\|$, a contradiction.

Therefore $z = Tz$.

Suppose that $E^m z \neq z$. Then

$$\lim_{n \rightarrow \infty} (\|Tz - F^n x_{2n+1}\| + \|Tx_{2n+1} - E^m z\| + \|Tz - Tx_{2n+1}\|) = \|(z - E^m z)\| > 0.$$

Therefore, for all n sufficiently large, (1) applies, and we obtain

$$\|E^m z - F^n x_{2n+1}\| \leq \alpha \|Tz - E^m z\| + \beta \|Tz - Tx_{2n+1}\|.$$

Taking the limit as $n \rightarrow \infty$ yields $\|E^m z - z\| \leq a \|z - E^m z\|$, a contradiction. Therefore, $z = E^m z$.

Claim $z = F^n z$.

If not, then $\|Tz - F^n z\| + \|Tz - E^m z\| + \|Tz - Tz\| = \|z - F^n z\| > 0$ and (1) applies to give

$$\|E^m z - F^n z\| \leq \alpha \|Tz - E^m z\| + \beta \|Tz - Tz\| = 0,$$

a contradiction. Therefore, z is a coincident point of E^m , F^n and T .

The other cases are proved in a similar manner. Thus in all cases one obtains a common fixed point. Condition (1) implies that z is the unique coincident point of T , E^m and F^n , and that it is the only coincident point T and E^m and T and F^n .

Consequently $E^m(Ez) = E(E^m z) = Ez$ and Ez is also a non-invariant point of E^m . Since E and T commute, from $z = Tz$, $Ez = ETz = TEz$, and Ez is also a coincident point of E^m and T . The second property of z implies that $Ez = z$. In a similar manner it can be shown that Fz is also a coincident point of F^n and T . from which it follows that $Fz = z$. Therefore, z is a coincident point of E , F and T . Condition (1) forces the uniqueness properties of z .

Theorem 2. Let A , B , and S be three selfmaps of a Banach space X satisfying

- (i) $A(X) \cup B(X) \subset S(X)$,
- (ii) for all $x, y \in X$ such that $\|Sx, Sy\| + \|Sy, By\| \neq 0$,

$$\|Ax - By\| \leq \alpha_1 \left[\frac{\|Sx - By\| \|Sx - Sy\|}{\|Sx - Sy\| + \|Sy - By\|} \right] + \alpha_2 [\|Sx - Ax\| + \|Sy, By\|] \\ + \alpha_3 [\|Sx - By\| + \|Sy - Ax\|] + \alpha_3 [\|Sx - Sy\|]. \quad (4)$$

Where $\alpha_1 \geq 0, \alpha_1 + 2\alpha_2 + 2\alpha_3 + \alpha_4 < 1$ and

- (iii) if $\|Sx - Sy\| + \|Sy - By\| = 0$, then $\|Ax - By\| = 0$.

If either

- (iv) $\{A, S\}$ are compatible and A or S is continuous, or
- (v) (B, S) are compatible and B or S is continuous,

then A, B and S have a coincident point, which is also the coincident point of A and S and B and S.

PROOF. In (4) set $x = x_{2n}, y = x_{2n+1}$ to get

$$\|y_{2n+1} - y_{2n+2}\| \leq \alpha_1 \left[\frac{\|y_{2n} - y_{2n+2}\| \|y_{2n} - y_{2n+1}\|}{\|y_{2n} - y_{2n+1}\| + \|y_{2n+1} - y_{2n+2}\|} \right]$$

$$+ \alpha_2 [\|y_{2n} - y_{2n+1}\| + \|y_{2n+1} - y_{2n+2}\|] + \alpha_3 [\|y_{2n} - y_{2n+2}\| + 0] + \alpha_4 \|y_{2n} - y_{2n+1}\| \quad (5)$$

Suppose that there exists an n such that $y_{2n} = y_{2n+1}$. It then follows that $y_{2n+1} = y_{2n+2}$. For if not, from (5) one obtains

$$\begin{aligned} \|y_{2n+1} - y_{2n+2}\| &\leq \alpha_2 \|y_{2n+1} - y_{2n+2}\| + \alpha_3 [\|y_{2n} - y_{2n+1}\| + \|y_{2n+1} - y_{2n+2}\|] \\ &= (\alpha + \alpha) \|y_{2n+1} - y_{2n+2}\|. \end{aligned}$$

which implies that y_{2n+1}, y_{2n+2} .

In (4), set $x = x_{2n+2}, y = x_{2n+1}$, to obtain

$$\begin{aligned} \|y_{2n+3} - y_{2n+2}\| &\leq \alpha_1 \left[\frac{\|y_{2n+3} - y_{2n+2}\| \|y_{2n+2} - y_{2n+1}\|}{\|y_{2n+2} - y_{2n+1}\| + \|y_{2n+1} - y_{2n+2}\|} \right] + \alpha_2 [\|y_{2n+2} - y_{2n+3}\| \\ &+ \|y_{2n+1} - y_{2n+2}\|] + \alpha_3 [0 + \|y_{2n+1} - y_{2n+3}\|] + \alpha_4 [\|y_{2n+2} - y_{2n+1}\|] \quad (6) \end{aligned}$$

Suppose there exist an n such that $y_{2n+1} = y_{2n+2}$. Then $y_{2n+2} = y_{2n+3}$. For otherwise, from (6) one obtains

$$\|y_{2n+3} - y_{2n+2}\| \leq (\alpha_2 + \alpha_3) \|y_{2n+3} - y_{2n+2}\|. \quad (7)$$

or, $y_{2n+2} = y_{2n+3}$ a contradiction. Therefore, $y_{2n+2} = y_{2n+3}$. It then follows that $y_{2n+3} = y_{2n+4}$. If not then, using (5), one obtains $y_{2n+3} = y_{2n+4}$ a contradiction.

Therefore, if there exists an n such that $y_n = y_{n+1}$, it follows that $y_n = y_{n+kc}$ for $k = 1, 2, \dots$. Thus there exist points $w_1, w_2 \in X$ such that $Aw_1 = Sw_1$ and $Bw_2 = Sw_2$. A, B and S have a coincident point.

From Lemma 2 $\{y, .\}$ converges. Call the limit z.

Suppose that A is continuous. Since A and S are compatible, $\lim ASx_{2n} - \lim Ax_{2n} = Sz$.

Suppose that $z \neq Sz$, then

$$\lim_{n \rightarrow \infty} [||SSx_{2n} - Sx_{2n+1}|| + ||Sx_{2n+1} - Bx_{2n+1}||] = ||Sz - z|| > 0$$

Therefore, for all n sufficiently large, (4) applies and one obtains

$$(||Sx_{2n} - Bx_{2n+1}||) \leq \alpha_1 ||SSx_{2n} - Sx_{2n+1}|| + \alpha_2 [||SSx_{2n} - Ax_{2n}|| - ||Sx_{2n+1} - Bx_{2n+1}||]$$

$$+ \alpha_3 [||SSx_{2n} - Bx_{2n+1}|| + ||Sx_{2n+1} - ASx_{2n}||] + \alpha_4 ||SSx_{2n} - Sx_{2n+1}||$$

Taking the limit as $n \rightarrow \infty$ yields $||Sz - z|| \leq (\alpha_1 + 2\alpha_3 + \alpha_4)||Sz - z||$, a contradiction.

Therefore $z = Sz$.

Suppose that $z \neq Az$. Then, since $y_n \neq y_{n+1}$ for all n, (4) implies and one obtains

$$||(Az - Bx_{2n+1})|| \leq \alpha_1 ||Sz - Sx_{2n+1}|| + \alpha_2 [||(Sz - Az)|| + ||Sx_{2n+1} - Bx_{2n+1}||]$$

$$+ \alpha_3 [||Sz - Bx_{2n+1}|| + ||Sx_{2n+1} - Az||] + \alpha_4 [||Sz - Sx_{2n+1}||] \quad (8)$$

Taking the limit as $n \rightarrow \infty$ yields $||Az - z|| \leq (\alpha_2 + \alpha_3)||z - Az||$, a contradiction. Therefore, $z = Az$.

Suppose that $z \neq Bz$. Then $||Sz - Sz|| + ||Sz - Bz|| = ||z - Bz|| > 0$ and (4) applies to give

$$||Az - Bz|| \leq \alpha_1 ||Sz - Sz|| + \alpha_2 [||Sz - Az|| + ||Sz - Bz||]$$

$$+ \alpha_3 [||Sz - Bz|| + ||Sz - Az||] + \alpha_4 [||Sz - Sz||],$$

or, $||z - Bz|| \leq (\alpha_2 + \alpha_3)||z - Bz||$, a contradiction. Therefore, $z = Bz = z$ is a coincident point of A, B and S.

The other parts are proved similarly. Condition (20) implies the uniqueness conditions.

Corollary 1. Let A, S and T be selfmaps of a Banach space X such that

(a) $\{A, S\}$ and $\{A, T\}$ are compatible, $A(X) \subset S(X)$ and $A(X) \subset T(X)$ and,

(b) there exists a number $q, 0 \leq q < 1$ such that, for each $x, y \in X$.

$$\|Ax - Ay\| \geq q \max \left\{ \|Sx - Ty\|, \|Sx - Ax\| \|Ty - Ay\|, \frac{\|Sx - Ay\| + \|Ty - Ax\|}{2} \right\}, \quad (9)$$

and

(c) S is continuous and is compatible with A , or T is continuous and is compatible with A , or A is continuous and is compatible with S and T .

Then A, S , and T have a coincident point z . Moreover, z is the coincident point common to A and S and A and T .

CONCLUSION

In the above study it has been tried to furnish the important results in this area and further scope for the study in future.

REFERENCES

1. Argyros, I.K. On a fixed point theorem in a 2-Banach space, Rev. Acad Cienc. Zaragoza, 2, 44, 1989, 19-21.
2. Axler, S. Linear Algebra Done Right, Springer-Verlag, 1996.
3. Bae, J.S. Reflexive of a Banach space with a uniformly normal structure. Proc. Amer. Math. Soc., 90, 2, 1984, 269-270.
4. Baggett, L.W. Functional analysis. Marcel Dekkar. 1992.
5. Browder, F.E. & Petryshyn. W.V. The solution of iteration of non-linear functional equations in Banach spaces. Bull. Amer. Math. Soc., 72, 1966, 571-575.
6. Bynum, W.L. Normal structure coefficients for Banach Spaces. Pacific J. Math. 86, 1980, 427-435.
7. Dass, H.K. & Verma, R. Mathematical Physics, S. Chand, 2011.

8. Dennerly, P. & Krzywicki, A. A Mathematics for Physicists. Harper and Row, 1967.
9. Goebel, K. An elementary proof of the fixed point theorem of Browder and Kirk. The Michigan Mathematical Journal. 16, 1969, 381-383.
10. Goebel, K. & Kirk, W.A. A fixed point theorem for asymptotically non-expansive mappings. Proc. Amer. Math. Soc., 35, 1972, 171-174.
11. Jungck, G. Common fixed points for commuting and compatible mappings on compacts. Proc. Amer. Math. Soc., 103, 1988, 977-983.
12. Krasnoselskii, M.A. Two remarks about the method of successive approximations, Uspehi Math. Nauk. 10, 1955, 123-127.
13. Lal, Sundar & Goyal, A.K. Common fixed point theorems in uniform spaces, Ganita Sandesh, Jr. of Rajasthan Ganita Prasad, 16, 2, 2002, 135-138.
14. Naidu, S.V.R. Coincidence points for multi-maps in a metric spaces. Math. Papon, 37, No. 1, 1991, 179-187.
15. Nelson, James L., Singh K.L. & Whitefield, J.H.M. Normal structures and non-expansive mappings in Banach spaces, non-linear analysis. World Sci., Publishing Singapore, 1987, 433-492.
16. Rhoades, B.E. A comparison of various definitions of contractive mappings. Trans. Amer. Math. Soc., 226, 1977, 257-290.
17. Singh, S.L. & Rao, K.P.R. Coincidence and fixed points for four mappings. Indian J. Math. 31, No. 3, 1989, 215-223.
18. Singh, S.L. & Gairola, U.C. A coincidence theorems for three systems of transformations. Demonstration Math. 23, No. 2, 1990, 323-328.

19. Singh, S.L. & Gairola, U.C. A general coincidence theorem. Demonstratio. Math. 23, No. 3, 1990, 685-690.
20. Thron, W.J. Topological structure, Rinehart and Winston, New York, 1966.